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A, B and C started a business together with Rs 12,000, Rs 12,000 and Rs 8,000 respectively. (\]
B worked only for ‘x> months while C left the business ‘x’ month before the completion of
year. If out of annual profit of Rs 3200, ‘A’ got Rs 1800, then find the value of °x’.

A, B3R Cd $haAM: 12,000 ¥TUY, 12,000 TUF 3R 8,000 TUY & HIY fHH T yaa@rd Y& ThAT| B
hael X FALAT & foIT FHrA a1 & Tafh ¢ av g @ & Ugel ggary 'x' &l oig fear afe 3200
TUY & I 18T & F A" 1800 FU e, dl 'x' &l AT AT HIia |
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P can do a task in 45 days, Q is 50% more efficient than P and R can do the same work in
7.5 days less than Q. If P and Q start task together, after X day they left the task and R
completed the remaining task in (X+ 9) day if Ratio between task done by (P + Q)
together to task done by R alone is 1 : 2. Then find the value of X ?

PUh By Bl 45 &l H BT Hbdl &, Q, P Jolell H 50% 3HUh HAS & 3 R3AT S A Q& 7.5
oAl dA H BT Ghar &1 I P3N QUH Y BT URH Ad &, AN X&T & I 9 T IS & §
3R RAV BT & (X+9) e & @ T & IfE (P+Q) gRT T TY AT 7T HF 3R 3rhel RERT U
AT HY & @ B IHJUTT 1 : 2 &1 AT X BT AT AT HIIAA?

4.5 days
7 days
6 days
S days
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Two vessels A and B contains mixture of petrol and kerosene in the ratio 4:5 and 7:9

respectively. When 30% mixture from vessel A and 60% mixture from vessel B is taken
out to form a mixture C then 32 liters mixture remained in vessel B. if quantity of petrol
taken out from vessel B is 3 liters less than quantity of petrol taken out from vessel A then
find the quantity of mixture C ?

al o A3NR BH Ueled 31T FedY & doT &1 fAMUT haA: 4:5 3R 7:9 & #A ¥ Fg 999 AQ
30% e 3R a3 BY 60% THHUT NepTel BT Teh THAUT C TN ST &, ) aaa B 32 ofex
ﬁr&mré:snm%laﬁﬁasﬁﬁmmﬂaﬁaﬁrmﬁmﬁmﬂaﬁaﬁmﬁ33ﬁaw%l
dda AQ AT chY AT Ia hifaA?
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A and B invested a sum of 5600rs and 4800rs respectively in their business. After some

months B withdraw 66.66% of his investment. If at the end of year A received 3750rs proﬁt )
out of total profit 6250rs then after how many months did B withdraw her investment ?

A 3R B U TITUR # AT 5600 FUA A 4800 FuI &1 AN & 79 fhaTl T FLAT & a1 B
31U fTdRr 1 66.66% Tebrel odT ¥ Ife a¥ & 3id H ADT 6250 FUT & Pol o1 A & 3750 FIT
T STH UTd 37, F fhdal FALAT & d1g BA 3101 fder amd o ferare

(@)
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There is a 600 gram mixture of water, spirit and alcohol and their quantity is 25%, 30% anq/\j\
45% respectively. 50% of the spirit is removed and 30 gram of alcohol is added. If quantity =
of water is increased by 20%, then find out the % quantity of spirit in New Mixture ?

g, uRe 3T 31edied &l 600 ITH fRUT § 3R Shl ATAT FAM: 25%, 30% 3 45%
¥ Tue T 50% e f&ar Irar § 3R 30 U eRTe e Sar &) afe el & AmEr #
20% &I gig &I ST &, aF a0 FHor 7 TuRe & % = da Hifade?

(=)

16.32%
14.53%
15.5%
15.78%
NOT
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In a city A, the ratio of males, females and children is 4:5:6 respectively and in another city (\‘j
B the ratio of male, female and children is 5:7:9 respectively. 35% of total population of A
are uneducated and 55% of the total population of B are uneducated. If the difference

between males and females of A is equal to that of B then what percent of the population in

both the cities together are educated ?

Ueh AT AH, Goul, AfFem3it 3R =l &7 Ul hAA: 4: 5: 6 & 3N gAY AN BH JW, Afgern 3N
el &l AT A 5: 7: 9 &l AT ol SIAHEAT BT 35% FARTT & 3N BHT Pol STAHEAT &l

555 JTATET &1 I AT gour 3R AR & IT & 3R BF RIS &, aF alar AT H FoT €IS
T fohcder gfaerd faféd 2

<t3@\> A. 17
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The ratio of selling price and cost price of an article is 5:3. if the shopkeeper gave a

discount of 180rs and still earned a profit of 360rs then fi

ferdl a&g & Tahd Hed 3R T AT & IUrd 5:3 &l Il
aﬂ3eomwmwyﬁﬁm%,a#m%mq%mm

nd mark up percent ?

A
[0S )

FIACR 180 TUY AT Te T § AR A
a%ﬁ'a?

= @ 0w 2
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60

7S
100
NOT



